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are given. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink i
the answer-book. Cutting or filing twO ©f more Circles
will result in zero mark in that quesuion.

The mass of one molecule of H,O is:

(a) 18 amu v (b) 18 gm

(c) 18 mg (d) 18kg

Which one of the following pairs has the same mass:
(a) 1 mole of CO and 1 mole of N, v

(b) 1 mole of CO and 1 mole of CO,

(c) 1 mole of O; and 1 mole of N:

(d) 1 mole of O, and 1 moie of CO,

The p sub-shell has:

(a) Ontlorbilal (b} Twwo ofdilal

(c) Three orbits! v {d) Four orbital

How many elements are present in 6 pariod:

(a) 2 @y el |

(c) 18 gy 32 v

Which one is shortest period in periodic table:

(a) Firstperiod v (b) Second period

(c) Third pernod (d) Fourth period

Which one of the following is an electrons deficlent
molecule:

(@) NH3 (b} BFE v
(€) N, (@) O,
Covalent Bond involves the:

(a) Donation of electrons
(D) Acceplance of electrons
(C) Sharing of electrons v

{d) Repuision force of electrons
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Freezing point of wartaf i

(a) 0°C ¥ (b) 100¢

(c) 34.4°C (@) 4°C

Tyndall effect is shown by,

(a) Sugar solution (b)) Pairts

(c) Jelly ¥ (d) Chal sohution
Oxidation number of oxygen in OF , is:
(a) -7 (o) +1

(c) -2 (dy 42 v

Which one of the following is 2 weak clecirolyte;
(2) H,80, (o) NaOH

(c) NaCl (d) CH.COOH v

Which ene.of the following will not react with dilute
HCI:

(a) Nz (b) K
(c) Ca (dycY
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